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( ) 1. What was the play like last night?

A. Boring. B. Great. C. Unfinished.
( ) 2. How will the temperature change tomorrow?
A. Tt will get celder. B. It will get hotter. C. It will be neither cold nor warm.

() 3. Why does the woman see the man many times?
A. He wants to buy something for a cheaper price.
B. He wants to find something he needs.
C. He wants to kill time.
() 4. What does the man think of the advertisement?
A. It’s cheap. B. It’s expensive. C. I’ s reasonable.
() 5. Where are the two speakers probably?
A. In a kitchen. B. In a restaurant. C. Outdoors.
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() 6. What kind of the club is it?

A. Cinema club. B. Rental club. C. Book club.
( ) 7.What’s a benefit of joining the club?
A. Saving money. B. Getting a present. C. Calling for free.

( ) 8. How much should one pay to be a club member for two years?
A. 300vuan . B. 600vuan . C. 3, 600vuan .
WU 7 BobbRL EIER 9 = 11
() 9. Where does the conversation take place?
A. Over the phone. B. In a company. C. In the woman's house.
( ) 10. What’ s the woman’s problem?
A. She has nothing to drink.
B. She broke the water pipe.
C. She has no water supply.
( ) 11. What will the man probably advise the woman to do?
A. Repair the water pipe.  B. Pay the water bill. C. Wait for his help.
YT 8 Brhikl, BIEE 12 £ 14 &,
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) 12. What happened to the man?
A. He was fired.

B. He was hurt by the crowd.

C. He was closed in by the city.

) 13. What does the man plan to do?
A. Take a bath in the forest.

B. Make new friends in the camp.

C. Walk a long way every day.

) 14. How will the man probably feel after the camp?

A. Forget his troubles.

B. Get rid of the sorrow. C. Cool down.

AU 9 BObbRE, RIS 15 £ 17 &,

{ ) 15. Where is the house the woman recommends the man to buy?
A. On the east of a hill along the Danshui River.
B. On the bank of the Danshui River.
C. On a hill to the east of the Danshui River.
() 16. When is the time for a good view?
A. At dawn. B. At noon. C. At midnight.
() 17. How much should the man pay to buy the house?
A. 10 thousandyuan . B. 3 millioryuan . C. 6 millioyuan .
HUTER 10 Bribkl, M58 18 2 20 #,
() 18. What is the number of telephone subscribers in 20107
A. 2.6 billion. B. 3.6 billion. C. 4 billion.
(' )19. What’ s the bad effect caused by the cell phone?
A. Having no privacy. B. Making things worse. C. Making meetings difficult.
() 20. How do people react to their being late?
A. They can cancel the meeting whenever they want to.
B. They care no more about their friends’ feelings.
C. They can make a phone call to tell their friends that they are late.
MR TS 10 BobORl, PR M A0isl  SE A 18 B 20 A,
Cell phones
Function Sending text messages, photos, etc.
Number of users | Jumping from18. in 2006 to 4 billion in 2010.
Advantage Making communication more 19.
Deprived of privacy. For example,
one can be easily found;
Effects . one can be woken in the early morning;
Disadvantages )
a happy weekend can be ruined.
20. good habits like punctuality.
Costing more money.
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( ) 1. Which sport does the man like?

A. Swimming. B. Boating. C. Surfing.
{  )2. When does the class start?
A. At7:15. B. At 7.45. C. At7.50.

{ )3. Who is the man going to visit during May Day holiday?
A. His teacher. B. His grandparents. C. His brother.
{ ) 4. What does the man mean?
A. The woman has missed the last train.
B. The woman has to wait for 10 minutes.
C. The woman can catch the last train.
( ) 5. What is probably the woman’s job?
A. A secretary. B. A doctor. C. A waitress.
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{ ) 6. What do we know about the man?
A. Heis lost. B. He just moved here. C. He is going to a shopping centre.
() 7. How long will it take the man to walk to his destination?

A. 10 minutes. B. 15 minutes. C. 50 minutes.
() 8. Where should the man turn right?
A. Al the first corner.  B. At the first cross. C. At the first T - crossing.
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{ ) 9.Why does the woman call the man?
A. To invite him to her birthday party.
B. To ask him to take some medicine.
€. To invite him to join them for a dinner.
() 10. Why is Richard uncertain about coming?
A. His cold is getting worse and worse.
B. His fever is getting worse and worse.
-3



C. His headache is getting worse and worse.
() 11. What does the woman advise the man to do?
A. Drink some water. B. Take some medicine. C. See a doctor.
AT 8 BB, RIS 12 R 145,
( ) 12. Which city was the host city for 21st UNIVERSIADE ?
A. Beijing. B. Sydney. C. Paris.
( ) 13. Where did the woman work as a volunteer 7
A. In the athletes’ village. B. In Peking University. C. In the gymnasium.
( ) 14. What do we know about the woman?
A. She once studied at Peking University.
B. She was a volunteer in Peking University.
C. She worked as an interpreter in Peking University.
TSR O BobrRL, BIESE 15 17 |,
() 15. What are the two speakers talking about?
A. After - class activities. ~ B. Financial problems.  C. Part —time jobs.
() 16. Which kind of job does the woman find the most interestin'g?

A. Teaching students. B. Selling books. C. Washing dishes.
() 17. What kind of job will the man probably do?
A. Work as a waiter. B. Work as a tutor. C. Work as a bookseller.

THWTEE 10 BORLRL, M5 18 % 20 [,

() 18. What is the speaker mainly talking about?

A. The main causes of air pollution.

B. The main effects of air pollution.

C. The main types of air pollution and its effect.
( )19. What is the main cause of indoor air pollution?

A. Acid rain. B. Indoor activities, C. The release of CO,.
() 20. What’ s the percentage of our time spent inside buildings?

A. About 60% ~70%. B. About 70% -80%. C. About 80% -90% .

EMGRE TS 10 BebbRt, AR A IREAS , SEAES 18 E 20 A,

Caused by 18. such as

Indoor air pollution
pe smoking and cooking.

One type: the release of particles into the

Main types of air pol- | Outdoor air pollution | air.

lution (like smog ) Another type: the release of noxious 19.

Effects of air pollution | Having bad effects on our health as well as’ the whole 20.
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{ )1. What does the woman think of the fish?

A. Delicious. B. Too Salty. C. Just OK.
(  )2. When did the woman actually arrive ?
A. At 7:40. B. At 8.40. C. At 8:10.
( )3.How did the woman read the book?
A. She read it all. B. She read it slowly. C. She read it selectively.
() 4. What will the woman do this weekend?
A. Visit her grandmother. B. Prepare for an exam. C. Attend an exam.
( ) 5. What does the woman think of Jim?
A. Careful. B. Rude. C. Careless.
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{ ) 6. What is the weather like now?

A. Rainy. B. Cloudy. C. Windy.
() 7. What is the lowest temperature?
A 1C. B. 2<C. C. 3TC.

( ) 8. Why will the two speakers go out to the beach?
A. To enjoy the sun. B. To cool off. C. To shelter from the rain,
HUTER 7 BobbR, EIEH 9 £ 11 8,
( ) 9. Where are probably the two speakers?

A. In a restaurant. B. In a school canteen. C. In a supermarket.
() 10. What does the man think of fried noodles with shredded pork?
A. Expensive. B. Too fatty. C. Healthy.

() 11. What do the two speakers finally decide to eat?
A. Fried rice with tomato soup.
B. Sichuan style crispy whole fish.
C. Fried noodles with shredded pork.
WIS 8 BOMT K, mIESE 12 E 14 [,
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() 12. What is the most probable relationship between the two speakers?
A. Husband and wife. B. Doctor and patient. C. Teacher and student.

( ) 13. What’ s wrong with the woman?

A. She is getting a cold.

B. She has a stomachache.

C. She is suffering from sleeping problems.
() 14. Why does the man ask for a leave?

A. He wants to see the doctor himself.

B. He wants to accompany the woman to see the doctor.

C. He wanis to accompany his colleague to see the doctor.
HUTHE 9 BObORE, BIESE 15 2 17 jil,
() 15. What are the two speakers talking about?
A. Their favorite basketball teams.
B. An exciting basketball match.
C. Their favorite basketball players.

() 16. What’s the man’s favorite team?
A. The Los Angeles Lakers.  B. The Houston Rockets. C. The Miami Heat.
() I7. Which of the following was the final score 7

A. 96.98.

B. 99.98. C. 97.98.

TS 10 BbbR, 12558 18 % 20 3,
() 18. What are the advantages of using the radio?
A. The radio is cheap and portable.

B. The radio is portable and convenient.

C. The radio is flexible and can offer more information.

( )19. Why can radio make you imaginative?

A. Tt forces you to listen to it.

B. 1t forces you to form pictures in your mind,

C. I is more interesting than TV.

() 20. What can we leamn from the passage?
A. The invention of TV is a failure. _
B. The invention of TV has had a bad effect on radio.
C. TV will not take the place of radio.

M UTE 10 BObbRt, It Hiftialss TR 18 E 20 L,

Advantages of Radio

Make us imaginative

Radio forces you to form 18, in your mind. ’

Flexible to use

You don’1 have to be in the same room as the radio set in order to

19. 1o the programs.

20.

When you listen to the radio, you can do something else, like

driving a car, jogging or walking around. |

—_— 6 —
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( )1.How much did the man pay for a ticket ?

A, 8§ 3. B. $ 10.
( )2. How does the woman feel about the exam?
A. Very difficult. B. Easy.
{ )3. What is the man?
A. A boss. B. A teacher,
() 4. When can the woman get her computer?
A. On Wednesday. B. On Friday.

( ) 5. What can we learn from the conversation?
A. The woman dialed the wrong number.
B. The woman wanis to buy a house.

C. The woman wants to buy some sport coats.

B (415 M)

C. § 30.
C. A little bit difficult.
C. A journalist.

C. On Thursday.
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() 6. When did the woman begin to prepare for the performance ?

A. On May 4. B. In early April.
() 7. Where is the performance going to be put on?
A. In the woman’ s school.
B. At the People’ s Theatre.
C. At the Youth Square.
() 8. Why will the woman put on the performance?

A. To collect money to repair the Youth Square.

B. To celebrate May 4.
C. To collect money for the Hope Project.

WU T BORbRL B9 E 1

( ) 9. What are the two speakers mainly talking about?

C. Two months ago. .

A. Women’s state in the society. B. Men’s careers.C. Women's careers.

() 10. Why does the woman disagree with the man?
A. She doesn’t have her own career.

B. She thinks women are as successful as men.

C. She thinks little of men.
( ) 11. What is the conclusion of their discussion?

—_ 7 —



A. They still have different opinions.
B. They agreed with each other.
C. The woman agreed with the man.
TS 8 Brbtkl, IS 12 E 14 4,
() 12. What’s the probable relationship between the two speakers?
A. Husband and wife.
B. Shop assistant and customer.
C. Good friends.
() 13. Why does the man want to buy a gift for his wife?
A. For Christmas Day. ~ B. For her birthday. ~ C. For Valentine’s Day.
() 14, What does the man buy for his wife in the end?
A. An evening dress. B. Earrings. C. A necklace.
HUTER 9 BAtH, A 15 17 /8,
() 15. When does the conversation take place?
A. Before work. B. At work. C. After work,
() 16. What will the woman do after finishing the report?
A. She will go to Linda’s house.
B. She will go 1o Ted" s father’ s house in Florida.
C. She will call Linda.
() 17. What advice does the man give the woman?
A. She should work harder.
B. She should pay more attention to her private life.
C. She should do more exercise.
T 10 Brbbkt, 245 18 5 20 44,
() 18. What is the bookMan and Animals about?
A. It is about the British loving and being interested in animals.
B. It is about the long history relationship between human beings and animals.
C. It is about how humans treat animals better.
(' )19. How many countries are mentioned that like animals very much?
A. 5. B. 4. C. 3.
() 20. What do we know about rabbits living in a wooden box?
A. Cleverer than those in the wild.
B. Bigger than those in the wild.
C. Less clever than those in the wild.

A DTS 10 BrbbR, IS M i ss , sE RS 18 & 20 M4,
On Animals

Man and Animals tells the long history of the relationship between human beings and animals.
The author of the book: 18.

If a cat died, 19. _ used to be very sad because they treated it as a God.

Some people have animals work for them but some keep them 20. _J
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{ )1.What will the man probably do? _

A. Have a dinner. B. Clean the table. C. Read the notebook.
( )2. What did the teacher do?

A. The teacher went over a lesson.

B. The teacher laught a new lesson,

C. The teacher put off the class until Friday.
(  )3. What did they think of the English course?

A. It s going to work quite well,

B. It s going to be a lot of fun.

C.It’ s going to require a lot of reading.
( )4.What’s the aunt’ s answer?

A. She agrees to lend him the car.

B. She offers him the car.

C. She refuses to lend him the car.
( )5. Where are the man and woman going?

A.To a restaurant. B. To a play. C. To a movie theatre.
FEZW(FH 15 /@) '
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(  )6. Where is the man going?

A. A street. B. A yard. C. A cinema.
(  )7. Which turning should he take? '
A. The first on the left.
B. The first on the right.
C. The second on the left.
(  )8. How will the man get there?
A. By bus. B. On foot. C. By bike.

WUTEE T BobORL, JEI858 9 A8 11 =AM
{( )9. What does the man want?

A. A stamp. B. A letter. C. A postcard.
(  )10. How much does he have 1o pay?
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A. Six penny. B. Three penny. C. Eight penny.
( )11. Where dpes he send the card?
A.To England. B. From England. C. In England.
WHUTAS 8 Brbtk, B H 12 F5 14 =4/

(  )12. What does the woman' s father grow more?

A, Wheat. . B. Potatoes. C. Other things.
( )13. When was the house built?
A. Almost 300 years ago. B.In 1938, C.In 1983.
() 14. What are they going to do when they’ ve seen everything?
A. Keep cows. B. Ride horses. C. Change the building.

HUTHEE O BebPs, MIZESE 15 25 17 =AM,
{ )15. What’ s the possible relationship between the two speakers?
A, Professor and student.
B. Guide and tourist.
C. Close friends.

{ )16. What is the most common cause of waves?

A. Temperature. B. Rain. C. Wind.
{ )17. What pulls the waves down into the ocean?
A. Water pressure. B. Gravity, C. The movement of the earth.

TS 10 Bk, F% S 18 £55 20 =MD,
( )18. What problem did the sculptor Robin have when he was young?
A. He had a mental problem.
B. He had no good ideas.
C. He couldn’t learn to read and write.
( )19. Which of the following is not true about young Thomas Edison?
A. His teacher said he was stupid.
B. He always went to school on foot.
C. He was sure of himself.
(  )20. What point is this speech trving to tell us?
A. You should believe in yourself.
B. Boys with difficulty in learning will grow out of it.
C. What your teachers/parents say is not necessarily right.

WA TS 10 BobbRl, IS S aiii s, SE 18 & 20 &K,
;

Name Problem ‘_I
Albert Einsten didn’ t read until he was 18. .

Beethoven the teacher was 19, ~about him.

Walt Disney was 20. by a newspaper editor
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( )1.What does the man mean?
A. He’ s glad he called the doctor.
B. He wants to change the appointment.
C. He was confused about the date of the appointment.
( )2. What does the man mean?
A. No one believes he won the scholarship.
B. He' s surprised that he got the scholarship.
C. It isn’ t true that he won the scholarship.
(  )3. When will the woman discuss with Professor David?
A. During his class. B. After his class. C. The next day.
{ )4.What does the woman mean? '
A. The nurse wasn’t able to help her.
B. She's going to help the nurse as soon as she feels better.
C. She feels sleepy because of the medicine she took.
( )5. What does the woman want to know?
A. Whether she can make a proposal.
B. Whether Bill needs her help.
C. Whether she can review Bill’ s summary.
FEH(4E 15 VE)
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( )6. What lipstick did the woman expect to buy?

A. Lyfel ,dark shade. B. Lyfel , pink shade. C. Lyfel , bright shade.
( )7.Why does the woman want to change the color of her lipstick?
A. To be cool. B. To be serious. «C. To be attractive.

( )8. How ahout the lipstick the woman took in the end?
A. Its color is suitable but is very expensive.
B. Its color is right though it is not Lyfel brand.
C. Its color isn’ t right but its brand is Lyfel.

WIS 7 BAER, A58 9 B 11 =A/NE,

() 9. Why is it easier for the woman to learn English?
A. She often talks to English people.
B. She speaks two languages already.



C. She always does her homework right after class.
)10. Which of the following is suggested by the woman to be a good way of learning Eng-
lish?
A. Reading newspapers.
B. Writing diaries.
C. Reading aloud in the morning.
Why is it difficult for the man to learn English?
A. He doesn’ t talk to his English teachers. -
B. There are no native speakers around him.

)1t

C. He is too shy to speak English.
WSS 8 Bk, [BIE5E 12 5 14 =4/,
)12. How does the man get information about the apartment?
A. From TV advertisements.
B. From advertisements in the newspapers.
C. From radio advertisements.
)13. How many rooms has the apartment got?
A. Four. B. Five. C. Six.
}14. How much will the man pay for the rent per month if he wants to include management
and parking as well? '
A. $500. B. $450.
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)15. What is the woman afraid of when she takes her trips?
B. Taking a train.
) 16. What transportation can you infer the man prefers?
A. Trains. B. Planes. C. Ships.
}17. What” s the probable relationship between the two speakers?
A. Husband and wife. B. Teacher and student. C. Friends.
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)18. What was Miss Richards?
A. A chemistry teacher.  B. A physics teacher. C. A science teacher,
)19. How did Miss Richards feel before Dick answered her question? '
A. Disappointed and unhappy. B. Angry and annoyed. C. Excited.

C. $550.

A. Taking a voyage. C. Taking a flight.

)20. What can we learn from the passage?
A. Dick was the top student in class.
B. The students were active in class.
C. Miss Richards was rather patient.

R U7 10 B, G AT SERRSE 18 F 20 B,

What was Miss Richards teach?

18.

What '’ s the students reflection about the
question?

They are 19. for a few seconds.

Why Miss Richards glad?

The boy who was not 20.

could an- l
swer her question. i

How about the boy’ s answer?

It’ s funny.
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{ )1.Where is Jimmy now?

A. At a hotel. B. At home. C. At the lab.
{ )2.What is the man?
A. A waiter. B. A taxi driver. C. A conductor.

{ )3. How does the woman feel?
A. Discouraged. B. Satisfied. C. Happy.
(  )4. Where can the man buy cassettes?
A. In the music department on the third floor.
B. In the music section on the fourth floor
C. In the music department on the second floor
( )5. What does the woman do?
A. An editor. B. A nurse. C. A housewife.
EZH (15 /)
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( )6. Where is the conversation taking place? _ .

A. In an office. B. In a market. C. In a hospital.
(  )7.What’s the trouble with Mr. Nelson? '

A. He has got a toothache.

B. He had a tooth pulled out

C. He has to look over the other teeth
{ )8.What does the woman suggest?

A. He has a tooth pulled out.

B. He sleeps for a day long.

C. He presses the tooth like this.

TSR T BAP e, MIER 9 B 11 =/ L

{ )9. What happened when the man was climbing the mountain?
A. He got trapped in a cave.
B. He got lost in bad weather.
C. He lost his equipment and food.
(  )10. What caused the loss of the man's legs?
A. Low temperature.
B. A bad fall in the mountain.
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